
IMPERATIVE, INFINITIVE OR OPTATIVE?
THE ACCENTUATION OF AORIST FORMS IN -QQQQ????GGGG--------

Remember
• ..that -p^f imperatives are accented like indicatives: recessive.
• .. that -p^f infinitives are accented on the penult.
• ..that if ultima = short and accented penult = long, then accent = circumflex  (but not all

penults are long vowels)
• ..that the optative -^f ending is long.

All this results in the following array of possibilities:

Aor. M. Imp. 2sg Aor. Act. Inf. Aor. Act. Opt 3sg comments

general rule recessive, short ^f penult, short ^f recessive, long ^f

m^fab·s m^÷abrp^f m^fab„p^f m^fab·p^f br = long

i·s i„p^f i„p^f i·p^f r = long

afaáphs a÷a^g^f afaág^f afaág^f ^ = short

doács doá`^f doá`^f doá`^f ^ = short

And now for practice:

The correct forms for _lrib·s are: (Add the accents)

_lribrp^f _lribrp^f _lribrp^f

 ..for vámqs:

v^`^f v^`^f v^`^f

.. for v·s:

vrp^f vrp^f vrp^f

.. for mùjms:

mbj`^f mbj`^f mbj`^f

and for klj÷ws (ignoring for the moment that the middle doesn't really occur):

kljfp^f kljfp^f kljfp^f

Check the correct box(es):

IMPERATIVE INFINITIVE OPTATIVE

hbib·p^f =

hbib„p^f =

h^iùp^f =

alrib„p^f =

m^÷abrp^f =
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